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B3 A ¥ 2E N A%
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B rhistEARSTN

A MERHAFXEFEYNSER
= P

T A4 3574 20 /NN, B Section A Fl Section B BN ER4r H B, B4 & F 10 4~/NME, HoF Section A
b 4 A A — A R A, — R R — B AL, UEEEA S HEER N AENNE. RAEHE
EAE A — NG AIER KA R, BSR4 TE 15 BRRhZ a1 ) EwE 07, X BT 4t AY a4
PRI Pkt IE MY R, S B R LA A FRIR B, Section B —fit R 3 3|4 X EAR, BRXEFH
7E 120 - 140 F 2 6], B EA =8 E WA 8, B EEHE— A4, X H 4 FENRE 4 W BT I ERE.
P RISSRY 0T AR R —iB . FEE 1997 M RZEIE MR H XM E, EWEE R P LFIAT —M#H
% —%& 4 375 (Compound Dictation) , ZEXKEH , —AA R XE, HPH 1012, YR E=RZE,
HEFBEER . HPRE —BME SRR ERERE, RIS ERE, UERE, £ 104 ME9, Rttt
ZSRBE, EEM 3 NS NEFECHEERE LN NEA, XMHTER A MEILIS—HES Section B 11y
Passages ¥t tH 2L o

m EAXER

BURT BT (RS SR B2 R 3o K A 2 52 U 335 o B0 A B AR BT RS 3 i 5% 0 () BE 1 O SR 4B T 4n
T EABALE : “ VT M SEIB IR, - REVT ML A1 K )T OB B B I A ) R D 8 B 130 - 150
) ) TR 4 22 R OB AN , R PO KR MER A R T, M HEE RS, MR %
R MR IR T A B2 R G THR ) FROR BT A B E o Bt , 5 0 10 48 565 3K A 2 A IO K — 3 B 7T LA

| R R LT 0% .

B & &4 o & 4 47 5 T i
XiEBSHE R ER

Directions; In this section ,you will hear 10 short conversations. At the end of each conversation ,a question will be asked

about what was said. The conversation and the question will be spoken only once. Afier each question there will be a pause.
During the pause ,you must read the four choices marked A) ,B) ,C)and D) ,and decide which is the best answer. Then mark
the corresponding letter on-the Answer Sheet with a single line through the centre.
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BRE—K. BIEEZE, &8~ MBS, EEBRE, RULAETHRA A) ,B),C) D) MINMER, H o E R
—MREGFHER, REEEEF EA—-RBEMHEFRNFERT,HEEHRR,

A F kUL, DU B3R 3o S FE 4 BRI T 43k FL - S R B ( place and location) , 2 #1375 ( plan and
arrangement ) , ¥ & 175 & (opinion and attitude) , (=1} | & (number and calculation) , 3¢ i #1 T H  traffic and tool) ,
BRIl #0136 & (occupation and relationship) , ¥ 2 f1#5 %t ( explanation and replacement) , Jfi R #1458 (reason and result) ,
5K FIE I (request and suggestion) ,

T, FATREAS [ 0 R U 44 10 WU 4 55 R i LA 4 i A T
1. $tb g F3FH R ( place and location)

FEUR SR A0 E P, X S R R R B A RS BB T E . 7ERDIE BRI MEH R P, M A AT
HRBARA D — IS AN EERXTRERFWRENMAA . REAKITAERZRL where 5] FHIFFHK
KR8], TR X FhIE B —F @ A, BT A B9 TR L B0, 1T L — N s AR R AR R s 1 5 3k,
W :in,at, by, on, 3 H 4 iE — B MR RS REE, Flm.
Choices: A) At a travel agency. B) At an airport.

C) At a railway station. D) At a bus stop.
Tapescript: M Could you please tell me if Flight 209 will be arriving on time?
W:Yes, Sir. It should be arriving in about fifteen minutes.
Q:Where did the conversation most probably take place?

BFHHUNETEFRITEAEREE AN, FUERNIRD BEANZRESHEAAEXNER L. &
WT iR, AT E] Flight 209, fRBA B XM XHE R X T KHLABLR , T B4 4 /a] B X TR G AT R E MM,
BRUA, IEBRE R & B,

2. 3+ F93T M ( plan and arrangement )

BAFHEERATRYNEARSEM TR MEHE, Z—-RMBENRERFFEY R TRE: BRME
F  BATIE SRR R A & ; BE BRI AAT RE B X M L HEAO TR . TR REF LB P, FZEAFFIAA want, are
going to do % iBiE 517 L B next week,next year ZFi[BRIE . Hk0 .

Choices: A ) Write letters to her. B) Take care of her house.
C) Collect her letters. D) Look after her pet.
Tapescript: W : Mike,do you think it is possible for you to check my mailbox while I’ m away?
M :Sure, Nancy. I’ Il take care of that.
Q:What does the woman want the man to do?

TEOFEE RS, RATFE] I will take care of that, B {TFF) to check my mailbox, AT LA, {118 2451 the woman
wanted the man to collect her letters, fiii N2 take care of the house, '
3. M A A BE (opinion and attitude )

LA What do you think of---7 5 How about---? $#R[5]#4/aEENLEE RN I HHREE HIK ., XRHE
BEXERHEMAMEGERRET RN ERNESE, A RATSHNEEHE, KEPRTBERTHHX
WU EEFREEE L HIFFEGE, B0 :not, no, none, nobody , nothing, neither, neither- -+ nor-:- ; better than, hardly,
little,, few , too-*+to, out of my power,beyond my reach; B F & B & E IR BUS FHY1A, BN in - , incorrect;il - , illit
erate;im — ,impossible;ir — ,irrelevantjun — ,unfair;dis — ,dishonest; — less, careless, B I1FH T, 7T I B F B
HABRKXBEMER L EHNAF. WNEFE (double negative) ., FHilt, ZEBUX A B WEHE, EXPFHEEN |
EMSEEHERO LN, REEERTE. Hi:

Choices: A) Your idea is quite good. B) You can never buy a computer by yourself.
C)Don’ t daydream. D)1t is really possible.
Tapescript; W :If I can become a millionaire tomorrow,1’ 1l buy a car,a computer,a house.
M:But it sounds too good to be true.
Q:What does the second speaker mean?

fHOX T8 AR ) X BB ZE T X “too- -+t Y FRME , MR AT TH AL HR K- MAR" WER, UBREZ LS |
IEFIIETR C, MfERE—T, T‘ﬁ*?ﬁﬁ’jﬁiﬁﬁ%ﬁ@ﬁiﬁﬁiﬁ%ﬁﬁ#ﬁﬂﬁﬁ D,
4, ¥=P N1t M ( number and calculation)

BESENZNEENNTHBROFRENRES RABFMTEMNEME, MRERT -EHHRITNE |
B2, 5HEAXNEEFAAE, MAX LY KRBT REEEERIER RN, —REE T, RITHEBLH
Hk, X BEE, BRI FENZFEEIIUTILA 2. ERHLRS RBHFHHEEHEF. —HBRELETR §

RER;

,

P B

R

Ml N TEe




ExSEN

bt L

]

(R Tl )

R FHEE, EESHABANRRNU LT . ANEFREBEHNTLEN, FEBFUEETREEN
BMIER. FTUL EWMO RS, AMUE AR BT, M BRECAESRFHENER b AWHdRe  ZEX
FHESFRMOFTE, B (d] M tin] 2 -ty R IL+FILL - teen FERM T IL"EREF LEHHM. -
teen TTHRLi: ], RE KTEH, FERTPHEE; -y WuER] REEMAME, EERPAE R c. FIE
FR B HM G, BEE VR BGICIZ Mg, HliN:a quarter PI4}2Z —, a half —2f three quarters 47}z =,
once —K ,twice X, double Wit . couple/ pair XL, dozen + —, daily % X, weekly 4§ ], monthly 8 A , quarterly 8§ %
JE ,fortnight +PUXR ;d. 7EREFHFE , EAVA#THH. & FERAZRGSE S, SFES B ZHE 6B R
B T UE AR R R atE R T RAMEEE, Fln: :
Choices:A) $30 B) 815 C)$10 D) 85
Tapescript: M; How much does that suit cost?

W Originally it was $65,but now it’ s on sale only at the price of $45.

M:But all I have now is $35.

Q:How much is the man short of now?

—F B PAET, RATH AT IR . X EER S EA XA R, B, 07 e B4, ME 'R
ERFURMXMER L, BT ES P HAN =M BFURHEENERICRMT B —FE 65,7
R 8 AN 45  now” BB =ANBF 35  have” . 3 T BT[] 9 Rl AR BLEE X A AR DR YT BT LA IE B A B
L% 45 -35 =10, BT LARE % %4 C,

5. 3ZiE 0 TR ( traffic and tool )

NGRS, 5GEMTRAMENT AEEEESB KRBT ILE a. XFHETETRMEE THEAE
B KL BA R E], B R A R TR, RS R FF Rt ), BRTE R A BUR, R R a7, HER B g o AT
X—%EE , RINEFHEEHERQRBAE R, BAER AP E R L E, —BERL T, X ME R
i BRGXRE—ANITUF - Fe b R fet ) — B R Bl ARt —@ R RE. b. X TREAMATATANE SN
TR AR R4 E R A A SHE BT L B A 38 B FL I SR HE T BT A Z IR E R, L B S B9 ot o5 B8 7 3 SR
A, AT Eey RBIE I ERBRFLLW, FEMMEERE , URBEEFHMES, o XTFTERRH
BEH, KELZERBEY ARAEENR. ENZEX+S, AN RAEEESRFIMERMRTN. Hit, R
NIRRT — e 5 3 ERA XM IEH BT T . BN raffic jam (35BHEHE) ,a heavy traffic (ZSEHAH) , the rush
hour( ZE G #EHA) ,a flat tire(— B T HIZERR) , out of gasoline(JHEEIL T ) ,a traffic accident( 3T FHEH ) . M0
Choices ; A) They should wait longer for Jane. B) Jane probably won’t come.

C) He forgot to tell Jane to come. D) Jane is very busy.
Tapescript:M:I can’t imagine why Jane hasn’t arrived. She was due before now.
W:It’ s the rush hour clearly.
Q:What does the second speaker mean?

WT 16 B9 rush hour BfXE A B A XA, BT HH due EEEFH” , EXRXER, HERE F
w7, REBIADARE, “RASHARERSEN" . Bilt, B AU A)E# EE & Jane will arrive. Let us
wait for a longer time. " ffLLIE#RE A,

6. Rl 0 2% % ( occupation and relationship)

MR ERPREHEHEBML, P RXR"HRE SR -, BARKEENERRELTRE
BAR A RE ., AERMFABCERXASAZRARRANERUR—EHZBHEES KRR Can
I help you?” ,§LRIZ B BIHIEAZERA AT RER IR F F waiter HIFLE customer HX F ; 472 “ What’ s the matter

1 with you?” , RATERATIZ BB P A 2 (8116 T BE R B 4 doctor FIFT A patient 3 % ; 2407 8] “ May I ask you a ques-

"] tion,Mr. Smith?” 1R I HER E M teacher %A student BIX R, EX—RMH , F— M APTRMELEER
| AEEEREFWDIAZEN KR B LR, &7 LUAATZE PR EJCE: R —DAFES—DMA

“Sit” (& “ Madam” IR AN Z B RLAT RER T RA ERREMF RMBMEHXR; MR —F A — I 7" Dear” K
#“Darling” , fi ] Z AT RER B FREREXRR. FH AHRRACREE, EXFRLANTRERELE ST
KR BRI BUH. W0RICF HBEFAU Darling, has your father come back? #5]1F, fREA B X B8 FAT LT R

) E. il ,
1 Choices:A) Librarian and student. B) Operator and caller.
C)Boss and secretary. D) Customer and repairman.

) Tapeseript: W: How long will it take you to fix my watch?

M:I’ll.call you when it’ s ready. But it shouldn’t take longer than a week.
Q:What’ s the probable relationship between the speakers? (1995 4 6 H i)
R R, AIREERBEAZRPXRE . AMPHE KR fix, XHEE“BHE"HER,fix watch X—HiHM
ALY FZRRBEMBETHNXR. Bk D.

e
{3}
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7. M0 # ( explanation and replacement)

Wy hER R RS REERNAERFH NS, XFHEAEESY BN RIEMBE" UR—&
SR B E AR ERAR A B & 6 R BIUE A MIBRERIE B 48, AR BB XU BB REN L HR BN
AREBH AT, BF LRAHEE, BEMERRNER A H X P — A ERXREENIRS, KA
—FEHE WS FARAR MR RT A —ERA SR TEMIT ) B R, A Sk TR ) o g 5
—EAM R E 2 AR SHLE B R B AR, B R TR IR, S A R AE . BTL
XA H BT AR e BRI AR ERENEE D, RITE S Ur IR, B X Rk [ L
WA FeER 2 A4, I RIS , 03 ) Y8 0 T [R5 R R LR B IE R B9 B R o Bl
Choices: A) Most people killed in traffic accidents are heavy drinkers.

B) She does not agree with the man.
C) Drunk drivers are not guilty.
D) People should pay more attention to the danger of drunk driving.
Tapescript: M1 think it’s high time we turn our attention to the danger of drunk driving now.
W:I can’t agree with you more. You see,countless innocent people are killed by drunk drivers each year.
Q:What does the woman mean? (1997 4£ 6 F i)
AEREEME A AGEORRN R TROCERE, HE, AEP Y RBNKRKRIETHEMAEE
3L not-more TRE T o HEXA T HXERET traffic accident F drunk driving i), S AT LAHERR #E A 1 C,
%1 not-+-more B“ HERRNEE ", HULHER B, FTLUEBERMZE D,
8. [RE#45 R ( reason and result)

Xt PR PRI RO SR IE) T R B A B A FIRMEE, A S WE RN RE, ERRBIsRE,
DL SRR 4, — Ok, X308 B A RBRBETR RS EERT. U, ERHIRS, BRITRR
BHEBEERNAEHFAERINE.L ., FREFEAM XA because, because of, for, as, since, now that, due to, owing
to,on acccount of  that is why; 3278 4% B #3174 : so, so that,so as to, in order to,in order that, as a result of ,such
that, A4, XAHERERFEEHRHSEY X BOMESR, —MM#EE KR : Why...? What’s the reason
of... 7 RITXEERKHNEEHEENT AR FRE], FTUHRERHRREFEROIRTT . BRBUA I
SR8 E MR EH A LR, Fln.

Choices ; A ) Something went wrong with the bus.
B) She took somebody to the hospital.
C) Something prevented her from catching the bus.
D) She came on foot instead of taking a bus.
Tapescript: M ; What happened to you? You are so late.
W : The bus I took broke down in front of the hospital and I had to walk from there.
Q:Why was the woman so late? (1998 £ 1 A &)

FEREEREMN, BLAKRELAT? BARAK. XLEBE NHRECERNARHE T, RABFEAR
JUER." B PR AEZE  FEERNERMER A,

9. MR FN MY ( request and suggestion)

S % &%

|

Bk

il S>Ee

BRI A KRR MBI RO /AR, B B R AR I AR DA X 2 b R R 5 AT R AR, X
HEHE, BHF LA TFARE LERERFRARRY MLR XL FHRESHERRRURRBENE §

REIEIL, HII0.If T were you,I’ d take up the job. NRTE LXK, RANEIF R SX HHFBAEMRXR, MELFR LA
JE BTSSR “ My suggestion is that you should take up the job. " /R BRI AY ¥ A : Shall we...? Why
not. .. 7 Perhaps we should...? You’d better. .. It would be better if. . . ; % HA) RN #R TR H : Can/ could/will/
would you. ..? Would you mind. .. 7 How about...? & FREAGR, RII—BHELBEES B L EHRER,
HE, A 88 BB ERNSSEAESMERMFAREIC MR, .
Choices: A ) Coming back for a later show. B) Waiting in a queue.

C) Coming back in five minutes. D) Not going to the movie today.
Tapescript: W ; The movie starts in 5 minutes and there’ s bound to be a long line.

M;:Why don’t we come back for the next show? I’ m sure it would be less crowded.

Q:What’ s the man suggesting? (1996 4 6 H X&)

I F741 45189 Why don’ t we come back for the next show? BRBE4EIRRAT: X AIERLRXAL 5 L AT BRI, |

B RATAMH AR ERE T —5R?" Bk, ERERE A,
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Directions; In this section ,you will hear 3 short passages. At the end of each passage ,you will hear some questions. Both

the passage and the questions will be spoken only once. After you hear a question ,you must choose the best answer from the four
choices marked A) ,B) ,C)and D).

B0 AEXNES RE SR =RE X, AERXEGE, RERF B LR, M ERRE R,
LRVt B2 G R BAFRA A) ,B),C) F1 D) 91U T gkt S AR E R

XY A ST

TEVULRIT F1 % i ep , 4 SRR AT — e 3 RSO, BRUG A 3 Bl 4 DNRBE( A8 10 /DD BRE
AT SECERSG , WRTAR A AT BB L 1 3 . MAIAR b S0, X 46 SCRE 43 i B A SCAIBLE 0. T i, AT
MIX Z AT T, %o 704 A A 40 A A LA T
1283

FEIDRUCH, BN MRA BHME REEREL APEICE. EX—W0, dBRBFE— ARk
AN JERWATH/NSE , FRHORHERE 100 FAG, T BXHMOREU - BRAYNEBEFAREAEENER,
ﬁ'ﬁﬁ)ﬂﬁ]ﬁﬁlﬁlﬂ'ﬂf R AR R 6 T X M RO R A A JRE PR SHE XA, AR RBIN R — X

BEREBMER. B, 70 X E AR, BN B7E SW (when, where, who, what, why) 1 1 H(how)_to
1?1]11[] 1994 4£ 1 A CET -4 Section B #f#] Passage One:

Tapescript: My parents ran a small restaurant. The restaurant was open 24 hours a day, seven days a week. And my
first job when 1 was six years old was shining shoes for customers. My duties increased as I grew older. By age ten I was
clearing tables and washing plates. My father made it clear that I had to meet certain standards. I had to be on time ,hard -
working and polite to the customers. I was never paid for any work I did . One day,I made a mistake of telling Dad I thought
he should give me 10 pounds a week. He said, “OK ,then how about your paying me for the three meals a day when you eat

here and for the times you bring in your friends for free drinks?” He figured I owed him about 40 pounds a week. This
taught me quite a lot.
11. What was the speaker’s job before he was 10 years old?
12. What was one of the requirements laid down by the boy’ s father?
13. What did the boy ask his father to do one day?
14. Why did the boy’ s father refuse to pay him?
Choices;
11. A) Washing plates. B) Clearing tables.
C) Shining shoes. D) Sweeping the floor.
12. A) He must work six days a week. B) He should never be late for work.
C)He must study hard in his spare time. D) He should not bring his friends to the restaurant.
13. A) To pay him for his work. B)To let him have three meals & day in the restaurant.
C)To give his friends free drinks. D) To allow him to have more free time.

14. A) Because the boy was not a full - time worker.
B) Because the boy had made some mistakes.
C) Because he thought the boy had failed to meet his friends.
D) Because he thought it was his son who should pay him.

758 SO T A DY A [ BB AR R K F P A AN, 58 11 BB R AT ATESCP A =35 P 3 : C) Shining
shoes; 55 12 FE B RO LAFEAORHP RSB -C/AHE PR E) . “ RASGRATRL T — 2o HUE . BHEAT B8 TR B X
HAALR” BT H AP T, SR PR B 24 ARS8 13 A R AT LIZE SRS LS TR B R,
BJI J& “ asking his father to pay him for his work. " #(3% A ; 55 14 ZEAT ] Y2 A8 3B 1% 8 SORIE L TR BN th A IR B 2
47", SCPE 10 IER SRR — BiE SR RATRE R i AR %R s L TR A" , 8% D,

EEERE L APEIC ORI S ER B E—FEM XEELAYKRAE NI, MBAE 25 S
BB CFALEARCE IR HE EAVEE BRAE EXEFT-BREW RFIX L VIP(Very Important

Person) LUK MR RBES B FTZ BT FIAEHF L RS, MESRERS, RN ERRE RN
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KT ERRETTE KBRS, Hi, EWHRSIRT, BRI EICH TR X R, T LURE MR i

11. What did Susan Anthony think about her country?

FTHEERMHFER. #40:1996 & 1 A CET -4 Section B H1f) Passage One BiR & TiX —~EH X E,
Tapescript ; Susan Anthony was born in Massachusetts in 1820 and died in Rodchester, New~York in 1906. In the 1850 s
she saw many problems in her country and wanted to do something about them. One of these problems was that women did
not have the right to vote in the United States. Susan Anthony and many others thought men and women should have equal
rights. In 1869 she helped start the National Women’ s Association. This group worked hard to get the woman to have the
right to vote in the United States. In 1869 , the State of Wyoming gave women the right o vote. Some other states also allowed
women to vote. But Susan Anthony and National American Women’ s Association wanted all women to have the right to
vote. They worked 1o add this to the constitution of the United States. Finally, in 1920, 14 years after Susan Anthony’ s
death, an article was added to the constitution. It gave all American women the right to vote.

12. Who among American women had the right to vote before 19207
13. When did all women finally get the right to vote in the United States?

14. What do we learn about Susan Anthony from the passage? r@‘
Choices:: ‘
11. A) It had many problems. ’ B) It was the most democratic country in the world. %
C) It was fair to women. D)t had some minor problems to solve.
12. A) The women of some states. B) The women in the state of Wyoming only. %
C) The members of the National Women’ s Association. D) The women in the state of Massachusetts only. %
13. A) At the very beginning of the 20th century. B) At the end of the 19th century.
C) After Susan Anthony’s death. D) Just before Susan Anthony’s death.

14. A) She worked on the draft of the American Constitution.
B)She was the chairman of the National Women’ s Association.
C) She was born in New York and died in Massachusetts.

D) She was an activist in the women’ s movements for equal rights.

A AR T A PUERE B AR R X F 45 X # £ A2 Susan Anthony iy A A 22 7 LA Btk B A 38 B4 403 2052 B B 1
Blo 5 11 FERME 3 B O ERMEE" 0, MNP ZAEERRN EXE L ABREEER 2/ —AiET i
REHRERGHFZER" BOE A, B 2 BRGESSENE. HERALLXKEIME, RRRERFHE
SRS T o MICH RPN 1869 4F Wyoming M H AR DL %A, B G HE LM T & W R KRB E S,
ptt, RATATLAR HAEERE A UM EZBEE RN, F 13 ERE AN EN ., XERENRAEFTEL
EVFHRAT,1920 4, B]) Susan FEEH 14 &, £ R EMOLIMKB TR ik C. 5 14 MR HELKA MM, &%
BEXKHER, REZRNZLLET A B CHEBRE I, 8% D,
2 A

B SCIEIR D SRR A R L LR 32, FEA W - REXEEMERFIN 5 — LR BRB T
B, REEFHERMATBECHEARFERN RLAE ZSTRELRS BE BRL BEURRCEESEH, &
FRE—BANE, FTLURBLUZE WL LB, FEEERE L E TR AT . 42 E X MR LR
R, B EH FEEELRAMER AT . HI40:1998 &6 A CET -4 Section B 1 Passage Two LR —R KT
HERRAMRHE. :

Tapescript : Religious and private schools receive little or no support from public taxes in the U. S.. As a result, they ' re

EoMEE

L ESd L

more expensive to attend. The religious schools in America are usually run by churches. Therefore, they tend to be less ex-
pensive than private schools. When there is free education available to all children in the U. S. ,why do people spend money
on private schools? Americans offer a great variety of reasons for doing so. Some parents send their children te private
schools because the classes there are usually smaller. In their opinion,the public schools in their area are not of high enough iz,
quality to meet their needs. Private schools in the U. S. range widely in size and quality and they offer all kinds of programs
to meet the needs of certain students.

14. Why is it usually expensive to attend religious and private schools?

15. What is one of the reasons for people to send their children to private schools?
16. Who usually runs religious schools in the U. S. ?

Choices

14. A)The number of students they take in is limited. B) They are only open to children from rich families.
C)They receive little or no support from public taxes. D) They have to pay more taxes.

15. A)Private schools run a variety of programs. B) Private schools charge less than religious schools.
C) Private schools admit more students. D) Private schools allow students to enjoy more freedom.

I
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16. A) The state government. B) The program designers.
C) The local authorities. D) The churches.

BRI EBR THEXE R =R ALK Private School , # 2% £ Religious School , 23 37 2% Public
School RIS . & 14 BR—EHAVHNEH, X THE—ABECLRINT, 8k C; % 15 Mh R - EHHE, X
B J5—A]iE “ they offer all kinds of programs to meet the needs of certain students” ¥ 1% A ; 55 16 B 5] #8 th B 347 o) 40 55
B, SCHA X H—A]E . The religious schools in America are us;lally run by churches. #3% D,

EAMEXENARTEIEY RBFE R EE YR IJLESF OB R SR RESEE.
X—-RREXEBRLEE/D BRATRAMEH —MHER, —REL T, XA RB2ERS LHE, A
KEBALERITERCENER. SRXXENBEESRNER—BHT, WHH BES. ol —LHE
RIGYREE . BI0.1995 4£ 6 H CET -4 Section B 1/ Passage Three 5 & {11, .

Tapescript: Can you imagine ice that does not melt and is not wet? Have you ever heard of dry ice? Dry ice is made by
freezing a gas. It is quite different from ordinary ice which is simply frozen water. Dry ice was first manufactured in 1925. It
has since fulfilled the hope of its inventor. It can be used for making artificial fog in the movies. When steam is passed over
dry ice,a very dense vapor rises. It can also be used for destroying insects in grain supplies. It is more practical than ordina-
ry ice hecause it takes up less space and it is 142 degrees colder. Since it turns into steam,instead of melting into water, it
is cleaner to use. For these reasons, it is extremely popular many people prefer it to ordinary ice. Dry ice is so cold that if
you touch it with your bare fingers, it will hurt you.

17. What is dry ice made of?

18. How is an artificial fog made in the movies?

19. What is the advantage of dry ice over ordinary ice?

20. When was dry ice first made?

Choices ;
17. A) Chemicals. B) Vapor. C) Water. D) Gas.
18. A) By passing steam over dry ice. B) By turning ordinary ice into steam.
G) By heating dry ice. D) By mixing dry ice with ordinary ice.
19. A) Tt takes a longer time to melt. B) It is lighter to carry.
C) It is cleaner to use than ordinary ice. D) It is not so cold as ordinary ice.
20. A) In the 1920’ s. B)In the 1930’s. C)In the 1940’ s. D) In the 1950°s.

ARARIE CE, FEIHR T TOKeE R S FEAE. TR R PES BRI 17 EAE R
7ECH BRI E, dry ice is made by freezing a gas. 7 #h¢ 1 ¥ B9 IF] % L &R R0E T vk B B A 60 — |ALBK, BT LAk D
518 BB R A LA B SCH B IZFR E) : When steam is passed over dry ice,a very dense vapor rises. #(i% A ; 55 19 &
B2 RTEH SCEE R AY ) TR AT L3R i : Since it tumns into steam instead of melting into water, it is cleaner to use, #{i% C;
20 BHEREXTEON, T XP R T MR BRABBRES , 8% A,

3. Wi

BOESCHERE X B2 W RBISCLEE O Wl RIERE R4 8% @3 — MG EEE xR

— ML REHT RN M L A RS, B TERKEFNWS, ERE EW, A FRH, B2
X2 (A REA B E A E R HEFR AT . BN 1997 4£ 1 A CET -4 Section B 1] Passage Two #t& — 8 X F family
life —RBLE L.
Tapescript ; There are many reasons why family life in Britain has changed so much in the last fifty years. The liberation of
women in the early part of the twentieth century and the social and economic effects of World War [l had a great impact on
traditional family life. Women became essential to industry and the professions. During the war they had worked in factories
and proved their worth. Now with the loss of millions of men,their services were indispensable to the nation.

More recently, great advances in scientific knowledge, and particularly in medicine, have had enormous social conse-
quences. Children are better cared for and are far healthier. Infant death rate is low. Above all, parents can now plan the size
of their family if they wish through more effective means of birth control. Different attitudes to religion, authority and tradition
generally have also greatly contributed to changes in family life. But these developments have affected all aspects of society.
It is particularly interesting to note that the concept of “the family” as a social unit has survived all these challenges.

14. What is this passage mainly about?
15. Why did British women become indispensable to industry after World War Il 7
16. What remained unchanged in spite of all the challenges in family life?

Choices :
14. A) The liberation movement of British women.  B) Rapid economic development in Britain.
C) Changing attitudes to family life. D) Reasons for changes in family life in Britain.
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15. A) Because millions of men died in the war. B) Because women had proved their worth.

C) Because women were more skillful than men. D) Because factories prefered to employ women.
16. A) The concept of“the family” as a social unit.  B)The attitudes to birth control.
C) The attitudes to religion. D) The ideas of authority and tradition.

ARXER— %%T%@i@&ﬁik'}{%%ﬁ?ﬂ%ﬂtﬁi FREEEA=. —RALHGEH R _KHR
KRB R HMAREREFRANER; SRAXMBEE MBS EENSEREL. 514 EERE
A CEAAN, B TZE XERABMDGE, B—AEER HHE N A XN ERAE, 0L D;%R 15 ERA
F¥ RGBS H , A B BE— /4135 “ With the loss of millions of men. .. "X & with R/RFHE , #%E A% 16 BRE
SRIRATIE MR B K B BS — )& “It is particularly interesting to note that the concept of ‘ the family’ as a social
unit has survived all these changes. " H i3l survive 7EX BB N “ AT, #E Ao

YA R B, BB H R SCRR A E B AT — A
L EHRAEILR T, FEAENEE APED REAR SUCHEE & BEHRE SRR
BB PRI S TS R LR, T AY R BHEAUC BUL SR,
2. ST BB, B LR, B L RR, TR SRR A T UT 1 1AR , B, BTS00 R
e WORR D RE S TRt BT IE RO PRI BE B R SRR I R T, R M A o A — 7 B
MEESTEMH D FID FTREFEE . B4 NaOFREHRE, BTk A RN DT — MBS/, Aa R K, R
R0 F R E BB XA R, ROVBEE— N E R A FANRER, XE— A ERRNERNE, 551
HoA B XA B (5 A M X RE R
3. EREMERILRSRL, Bl EEX, FEEEEAMXENKENT.ORENER EEATHERS S
&5, DL BRI BT3RS BOAH 615 B, X SO RS g4 U BB AT . B A — B B R BRSCF IR — B RA
WHATRIEIN, REEMRE S — A SRR, A, 1a B R BI F&E K M AR08 H MR
EPNIPUNEE S A e I
4 M ERABREBEXHEBRE, MEHS—RCREE, FTRNDERESE — < RN R
MBS, T SCRRA UK, 15 B R ILEK , — ROR IR, TR R AR R 3¢ TAR L BB 72 30 F R BIRO Y
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1. R R

TV AR, R EEZ ARSH 15 BRER; EE MBI XEEKE 1 -2 53509 Direc-
tions . 3 6T LIS AR MRS (BT ZE N ) %R A B AR AR RAT S R A, BB RATAT LUSE S A A X Lo AT R B0 b
BRI . — MR, YRIBEZF WA EEN RN ERNE T2 G, B RXMEXRXEHEEHNE, W
9 R HH B AR R BR L T I B AR TE b XTI, ) 18 R0 B 1 RE U th B

B gy, BB L, RIRERA - LRENEERGR, BAPHEER FiE EL R AN AR

LB FT IR RE, T&E, RITRLL 1999 4 6 A K9 CET -4 Section B 1] Passage One g il I LAR#AT :

11. A) To protect persons and property. B)To collect taxes.

C)To teach and train citizens. D) To save natural resources for future use.
12. A) By selling services that make life comfortable. B) By selling land containing oil.

C) By selling public lands. D) By selling coal and other natural products.
13. A) Environmental pollution and protection. B) Taxes and services for the public.

C) Police’ s efforts to protect people. D) People’ s attitude toward taxes.

B BB A RTZE, BATR I taxes — 1A HBUBR LI, M A S BL T protect, protection.
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A0 A - L A KT R, RUEE R FREHIE, T HABIO T S2MENER. R, RITRT RS
ﬂ]——B%’S TEMUE B AR, R A LA T . A, B2 M BB, B L FE —Es N LA EIE, X s
BRI R B A AW BES, XFMFERMAECHERBERMNER . T, RIHM 2000 4
6 A #} CET -4 Section B H1{{) Passage One Jyf , ik anfaic i,
Tapescript : There are three groups of English learners : beginners, intermediate leamexs,and learners of special English. Be-
ginners need to learn the basics of English. Students who have reached an intermediate level benefit from learning general
English skills. But what about students who want to learn specialist English for their work or professional life? Most
students , who fit into this third group have a clear idea about what they want to learn. A bank clerk, for example, wants to
use this specialist vocabulary and technical terms of finance. But for teachers, deciding how to teach specialist English is not
always so easy. For a start, the variety is enormous. Every field from airline pilots to secretaries has its own vocabulary and
technical terms. Teachers also need to have an up —to — date knowledge of that specialist language, and not many teachers
are exposed to working environments outside the classroom. These issues have influenced the way specialist English is taught
in schools. This type of course is usually known as English for Specific Purposes,or ESP and there isn’ t ESP courses for al-
most on area of professional and working life. In Britain, for example, there are courses which teach English for doctors, law-
yers , reporters, travel agents and people working in the hotel industry. By far,the most popular ESP courses are for business
English.

C FERBED MEER T ZARRNEEEITE MEE, PREIE, LT WFBEE, U RN R
RIER, B TFRICIZNE ARSIENEENBES P EEREIENERFRT . B, RO %A
iR FHIEIE B 9123 basic; 1%, general English skills; B4R , specialist English, X #f , 341158 7T LAF 1R Wi 49
BT,

.MEEER

VR BRI SR X EN TR, B FEARE T EXHEEANEMD.OEE, X
PERREESE LR A B TR SN A T . T BAREHE, 5 A% B R W)X 5 SR .0 B AR, 81 (topic
sentence) — At N B —BUEM AL RE LR, EMNMERE X EE THENSSEOER, W HX & E8ad R #E
BRI SR E R RE AN TR AR MM AREE. FEAEERNE YRR RENEY, B ELE
B, #1997 42 1 B R85 Section B H1ff) Passage Two %5 — 4]i%“ There are many reasons why family life in Brit-
ain has changed so much in the last fifty years. "SR X B X EN FEA . WX AEG JERBRTT B RIS R A
ARRESHERFETA X, TH,HA% 14 F“What is the passage mainly about?” gk &6 LRI M .

A) The liberation movement of British woman.

B) Rapid economic development in Britain.

C) Changing attitudes to family life.

D) Reasons for change in family life in Britain.

gea baribd A, R BT D REABM ERESR.
4. RERIDH R

A EEHE, FEVT SR, PR E TN ERE, TRSHEE —EER . A R R T EEAREN
AiE), SXAHE, R E R FIH LA IR Rl . X BT R RS R R ATX F IR B K EPEINR,
i B3 RIEEE  CEEH Wik Sh TR PURHTHE, AL, RITETUREBECHKBHBIMEE,
AR — i R B AT A ttﬁ?kﬁ‘hﬁrﬁ T, BATELL 1995 4 6 H CET -4 Section B 1] Passage Three H1#Y
dry ice Jg BN EASH T o

FERIEE I MRS, RINBREE Wit dry ice XANFIE AR dry F ice XF N RFEMBRADRFEIF AL,
HERKEFEEE XA THK”, BET K", Ed ¥ W AR RETFKREESH CO, (ZE LK) .
B, FE A 17 RBES, FRATREAT LARI AL % R4 T 20T
17. What is dry ice made of?

A) Chemicals. B) Vapor. C) Water. D) Gas.
REAR CO, BEME, R ABMIERERED,
5.0 EER

— AR, — B SO R LN E RN, B B R ER B L F AR TEETIRA—NEL
gk ¥AN—EERFEREBSEIXENER. RRFF BHANEERNEARR-HEANERTF
#:, 40 : and, also, but , furthermore , in addition , for example ,however,in spite of ,because,therefore ,first,second, last, be-
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TiXERER, R LB ER WA AN E X NAN R R, X, EBEEERE &, A BT
37, THE,RITHLL 1999 421 A CET -4 Section B 1) Passage Three I #i M £ 1F & &9 @%U&Iﬁ
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Tapescript: When a sleepy driver has trouble in keeping his eyes on the road and gets 1oo close to another car,an alarm bell
sound will warn the driver. If nothing is done, the car will automatically come to a stop and in this way prevent an accident.
This is a new device which will soon be tested in an experimental car in Japan. The computer warning system keeps track of
a driver’ s condition by monitoring his heart beat with signals transmitted form a band round his wrist. The wrist band re-
cords the drivers pulse which measures the heart beat. Each pulse in the wrist sends a signal to the computer. By analyzing
the pulse rate,the computer can determine whether a driver is drunk , sleeping or ill. Devices in other parts of the car can al-
so tell the computer if the car is too close to another vehicle or is moving dangerously. The computer will sound the alarm
when a problem arises ,and will automatically stop the car if the driver ignores the warning.

EXRXETEEERTi5LX88,4 drver,he, car, wrist, sleeping, pulse , computer , signal , automatically , stop,
PEFERHMB TSR, B RE-FEERXERRTAINRE, EVTHIEY, FEURA 7 HLBEMAE
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AR SHEEERRSA

HEAXWEEMEREL M FARRR CREEN—MER, 197 FEERELEENEEE P LR,
SLEVRENT ORI MR R KR RIS ZERE RS RN TR, EAUEEF LM T
EEFEMIACE B HE BT ER OCEICURICIZFES . THERE MY REIZMHERNRRES
M2 ) AR, EIRFRGK SRRy — K BT LT KB R ERU DX A B 0 B B E , R AR S5 1 =42 — AR
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Directions ; In this section,you’ Il hear a passage three times. When the passage is read for the first time ,you should lis-
ten carefully for its general idea. Then listen to the passage again. When the passage is read for the second time, you are re-
quired to fill in the blanks numbered from Sl to S7 with the exact words you have just heard. For blanks numbered S8 to S10
you are required to fill in missing information. You can either use the exact words you have just heard or write down the main
points in your own words. Finally ,when the passage is read for the third time ,you should check what you have written.

HASCRE R AEX NS R B R CE =R Y05 — R AR, REF AV MG FEAE W
55 IR BRHR , BESR AR B U B 4 SRR3R S1 B S7 5T X T S8 B S10, ARBE AT LARIRIE , AT AR B C SR |
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5510 N2 — AR T BT A 19 538, W AT LUA B C RS RA ERTR AR . M H, IR X EMERNE — KR
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A HIATE E T U B A F RO RBE SR TR — A 3hiA, BATRE won; INRFFE— YA, AT one 3, 5)F
MEMRT R . EWHEERS B TR FHERSFURREESARNOENA, FLEWER iR Z LKL
BE/NGARESVIHE, X6, RITEANBMFHEEBRIBRERR F—FUNNEHRTREE, ETXF
REFRBEM AR AR BRI R IR T X LB H . - '
3. IR, ENRE RS, RNSAAFLLTIEAIHENTEREBTEEROH SRR, XHBRNE XS
HRETXHRHMZTEXOMB, AR ETXFHBEHRPHRATIXAN ST, XRRZ AWK EME, R
B, B BT CE S RBEFTESRX IR AESE A FRREER, AE AR SGARERE,
THE, RATRLLA 1997 45 6 A KINR G % B+ Compound Dictation Jgfi], Rikiffid - F X 88 H B ITHTT
%

In police work, you can never predict the next crime or problem. No working day is identical to any other,so there is no
- “(S1) " day for a police officer. Some days are (S2) slow,and the job is (S3)
busy that there is no time to eat. I think I can (S4) police work in one word: (S5) . Sometimes it’ s danger-

;other days are so

ous. One day, for example,1 was working under cover,that is,I was on the job but I was wearing (S6) clothes, not
my police (S7) . I was trying to catch some robbers who were stealing money from people as they walked down the
street. Suddenly (S8)
away. Another day,l helped a woman who was going to have a baby. (S9)
faster. I thought she was going to have the baby right there in my car. But fortunately, (S10)

IEHZ R % & : SL. typical; S2. relatively; S3. boring; S4. describe; S5. variety ; S6. normal ; 87. uniform; S8. seven
bad men jumped oul al me;one of them had a knife,and we got into a fight;S9. She was trying to get to the hospital , but

. Another policeman arrived, and together. We arrested three of the men;but the other four ran

,1 put her in my police car to get there

% W B

there was a bad traffic jam;S10. the baby waited to “arrive” until we got to the hospital.

4 E it g =k, RN — &R TS T ux B —EEH .

HE SRR ANNERREAME Tk, B, MRS, d FiE s Reis X & iE s 7Pk
EIESFEHE, RIS AR H R i — i, F140: S8 i at, of il into,S9 F A iA] to LK S10 FHIBTA to,
AN N IE A SRR R 0TS R B v B A A E A, SRR/ NA I k%

S8 WK 5l1iR] got 25 HHIRE W get,S9 H was trying RHE M ry. MBRMEXRE  BMHEFRE - RAEEL
FHHEE L S8 R RBIAE R X0, AT get YIER gote EF S9 9 ry, A ETFIORE , X A b7 B aF A
it Fi AT

S2 H1 ) relatively 25 55 iR07 Y, relative, {BR {F4E— T HE FAAHR, BT UB X0 T
BB 95X/ 15 R R B slow X ME AR, F X B A e R AR, ARTR, REZE, LBy n b
%, $6 H1f) normal NRAEIRHE AL normally, 253 fF AR E 2 )5, L RHEXNBIARBHTEARE K .

S1 Hf#4 typical ] BEREIRE K tipical,$4 H i describe 7] fE 4R 5 /R, discribe, S5 H variety A] fB{RE 4 variaty,, -
KRR RO KB E RA . 2 03X sk MR HFE BT 405 18 RAT S 1L RN BB BOE k.

S3 #1) boring MR ALE , 7] LA tiring 3R4CE . S7 &) uniform HLA] LA clothes XA E,

1B HETEEE St R —Fh R BRI 15035, S10 BRI &2 : 1 thought she was going to have the baby right here
in my car. But fortunately. . . LU SERMEENEEFET JBRFEZEHR . BMER B RE, RIS
BANEMHETER . RITUHEHBE TRAEEEE L  RAERZ EA AN, H L% 4] g RV #5) K waited to
arrive (I, #R45 L T SUHEWT, 3 | T the baby was born in the hospital, ATt 3R18 T 14, FTLLZ B AR NK
N b RERHLEMN.
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Part | Listening Comprehension (20 minutes)

Section A

Directions : In this section ,you will hear 10 short conversations. At the end of each conversation ,a question will be asked about
what was said. Both the conversation and the question will be spoken only once. After each question there will be a
pause. During the pause ,you must read the four choices marked A) ,B) ,C)and D) ,and decide which is the best

answer. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

Example; You will hear;
You will read; A) At the office. B) In the waiting room.
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C) At the airport. D)In a restaurant.
From the conversation we know that the two were talking about some work they had to finish in the evening. This is
most likely to have taken place at the office. Therefore,A) “ At the office”is the best answer. You should choose[ A]on the

Answer Sheet and mark it with a single line through the centre. -
Sample Answer[ AJ[B][C]}[D]
1. A) Get some change from Jane. B) Use the woman’ s phone.
C)Go and look for a pay phone. . " D) Pay for the phone call.
2. A) At a bookstore. B)In a workshop.
C) At an art gallery. D) In a department store.
3. A)She’ s bought the man a pair of glasses today. B) She will help the man to catch up.
C) She is worried about the man’ s health. D) She has bought the man an up-to-date map.
4. A)He is going to give a talk on fishing. B) He thinks fishing is a good way to kill time.
C)He has the same hobby as Susan’s father. D) He is eager to meet Susan’ s parents.
5. A) He finds the presentation hard to follow. ' B) He considers the presentation very dull.
C) He thinks Professor White has chosen an interesting topic. D) He speaks highly of the presentation.
6. A) High quality paper. B) A typewriter.
C) A bookshelf. D) Some stocks.
7. A)They go 1o the seaside. B) They set off early.
C) They go sightseeing. D) They wait for a fine day.
8. A)He was late for school on the first day. B)He had a funny face.
C)He was the first person she met at school. D) He liked to show off in class.
9. A) Her car can stand any crash. B) Her car is not as good as his.
C) Her car is maintained as well as his. D) Her car is kept in good condition.
10. A) She is too busy to go. B)She doesn’t want to wait long.
C)She’ s willing to go swimming,. D) She enjoys the wonderful weather.
Section B )

Directions ; In this section, you will hear 3 short passages. At the end of each passage ,you will hear some questions. Both the
passage and the questions will be spoken only once. After you hear a question ,you must choose the best answer from
the four choices marked A) ,B) ,C) and D). Then mark the corresponding letter on the Answer Sheet with a single

line through the center.
Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A) He was once a friend of the ruler. B) He was a tax collector.
C)He was a government official. D) He was once a school teacher in India.

12. A) To declare new ways of collecting tax.
B)To entertain those who had made great contributions to the govermmenl
C) To collect money from the persons invited.
D) To reward outstanding tax collectors.
13. A) They tried to collect more money than the ruler asked for.
B) They were given some silver and gold coins by the ruler.
C) They were excused from paying income tax.
D) They enjoyed being invited to dinner at the ruler’s palace.

Passage Two

Questions 14 to 16 are based on the passage you have just heard.

14. A) They liked travelling. B) They wanted to find a better place to live in.
C) They were driven out of their homes. D) The reasons are unknown.

15. A) They try to put up with Gypsies. B) They are envious of Gypsies.
C)They are unfriendly to Gypsies. D) They admire the musical talent of the Gypsies.

16. A) Special schools have been set up for them. B) Permanent homes have been built for them.
C) They are now taught in their own language. D) They are now allowed to attend local schools.

Passage Three
Questions 17 to 20 are based on the passage you have just heard.
17. A) The causes are obvious. B) The causes are very complicated.
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C) The causes are familiar. D) The causes are not well understood.
18. A)Regular driver training. B) Improved highway design.

C) Strict traffic regulations. D) Better public transportation.
19. A) Highway crime. B) Poor traffic control.

C) Confusing road signs. D) Drivers’ errors.
20. A) Designing better cars. B) Building more highways.

C) Increasing people’ s awareness of traffic problems. D) Enhancing drivers’ sense of responsibility.
.
Scetion A

1. M:Hi,Jane. Do you have some change? I have to make a call on the pay phone.
W :Pay phone? Why not use my mobile phone ? Here you are.
Q:What will the man most probably do?
2. M:Can you tell me the title of this oil painting?
W :Sorry,I don’ t know for sure. But I guess it’ s an early 18th ~ century work. Let me look it up in the catalog.
Q: Where does their conversation most probably take place?
. M:I’ m worried about those classes I missed when I was sick.
W.I"1l try to bring you up to date on what we’ ve done.
Q: What does the woman mean?
4. W:Hey,Dan, I hear you’ re meeting Susan’s parents for the first time.
M: Yeah,next weekend. Fortunately, her father loves to fish, so we’ll have something to talk about.
Q:What can be inferred about Dan?
. W:Professor White’ s presentation seems to go on forever. I was barely able to stay awake.
M :How could you sleep through it? It’s one of the best I have ever heard on this topic.
Q:: What does the man think of professor White’ s presentation?
. W:I’ m looking for quality paper to type my essay. I don’t see any on the shelf.

b

Exsoll

M:I saw some in the stock room this morning. I’ 1l go and check.
Q:What does the woman want to buy?
7. M:It seems that we’ 1l have another fine day tomorrow. Let’ s go to the seaside.
W:0K,but we’ll have to leave very early,or else we’ 1l get caught in the traffic.
Q:What does the woman suggest?
8. M:Do you know James? He’s in your class.
W :Certainly. In fact,he was the first person I got to know in any class. I still remember the look on his face when he

Ml

showed up late on the first day of school.
.Q:Why did the woman remember James so well?
9. W:The man at the garage thinks that I take good care of my car.
| M:So do I.1 can’t see any scratches on the outside and the inside is clean, too.
Q:What does the man think of the woman’ s car?
10. M; Wonderful day,isn’t it ? Want to join me for a swim?
W If you don’t mind waiting while I get prepared.
Q:What does the woman mean?
| Section B
| Passage One
A friend of mine told me that when he was a young man,he went to work as a teacher in one of the states of India.
One day, he received an invitation to dinner at the ruler’ s palace. Very pleased, he went to tell his colleagues. They
’ laughed , and told him the meaning of the invitation. They had all been invited and each person who was invited had to bring
with him a certain number of silver and gold coins. The number of coins varied according to the person’s position in the
service of the government,my friend’ s income was not high so he did not have much to pay.
Each person vowed before the ruler. His gold went on to one heap;his silver went on to another heap. And in this way

| he paid his income tax for the year.
This was the simple way of collecting income tax. The tax on property was also collected simply. The ruler gave a man
the power to collect a tax from each owner of land or property in a certain area, if this man promised to pay the ruler a cer-
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tain amount of money. Of course,the tax collector managed to collect more money than he paid to the ruler. The difference
between the sum of money he collected and the sum of money he gave to the ruler was his profit.

11. What do we know about the speaker’ s friend?

12. What was the real purpose of ruler’ s invitation? .

13. What does the passage say about the tax collectors?

Passage Two

Around the year 1000 ‘A. D, some people from northwest India began to travel westwards. Nobody knows why. After
leaving their homes ,they did not settle down again, but spent their lives moving from one place to another. Their later gener-
ations are called Romany people ,or Gypsy. There are Gypsies all over the world,and many of them are still travelling with
no fixed homes. There are about 8 million of them including 3 million in eastern Europe. Gypsies sometimes have hard time
in the countries where they travel , because they are different. People may be afraid of them,look down on them ,or think they
are criminals. The Nazis treated Gypsies cruelly, like the Jews ,and nobody knows how many of them died in Hitler’ s death
camps.

Gypsies have their own language , Romany. They like music, and dancing and they often work in Fair and travelling
shows. Travelling is very important to them, and many Gypsies are unhappy if they have to stay in one place. Because of
this , it is difficult for Gypsy children to go to school. And Gypsies are often unable to read and write. In some places , the ed-
ucation authorities try to arrange special travelling schools for Gypsy children so that they can get the same education as oth-
er children.

14. Why did the ancestor of Gypsy leave their home?

15. What is the attitude of some people toward Gypsies?
16. What measure has been taken to help Gypsy children?
Passage Three

As the car industry develops, traffic acmdents have become as familiar as the common could, yet their cause and control
remain a serious problem that is difficult to solve. Experts have long recognized that this discouraging problem has notable
causes. At the very least, it is a problem that involves 3 factors :the driver,the vehicle and the road way. If all drivers exer-
cised good judgement at all times , there would be fewer accidents. But this is rather like saying that if all people were hon-
est, there would be no crime. Improved design has helped to make highways much safer. But the tide of accidents continues
to rise because of human failure and enormous increase in the number of automobiles on the road. Attention is now turning
increasingly to the third factor of the accident,the car itself. Since people assume that accidents are bound to occur, they
want to know how cars can be built better to protect the drivers.

17. What does the speaker think of the causes of automobile accidents?

18. What measure has been taken to reduce car accidents?

19. What remains an important factor for the rising number of road accidents?
20. What’ s the focus of people’s attention today according to the passage?

2001 £ 1 BERNEERS ¥R

Section A

1. B) A% MR E LN Why not do... 7 X—EHWKEM, EXRAKNTEF, BHELWRETEZTR, BN
fHARAT— AT B8R E , WXL EH R R AT AT AR FIR" L, X B L ETEEAXMN LR
g, FTLLE B,

2.0)AEFERWRINIEFREN A, HFPH oil painting il {H ,an early 18th-century work — g 18 T_ﬁiﬂﬁﬂ B 1E
dn ,catalog B SRX (5 B HEFRINTKIENHAREZARME Art gallery,
B) AR EEEEME D —AENEE. B —HHOAAERBEAET @R, L 0" bring sb. up to
date” , HHE LR “WHEAKE", U, INTTHEER WEEFIMBELHEEE.

4, C) mFFREBH XKD M AYHE RN, Dan BEBE-ANUGEA, Bk, AN ZREMKIRBENE L ﬁi’.ﬁﬁ,“ﬁ(ﬁﬁg
AEENGE X, BITRE TRSHAA T Hl, ROV S e SRR BRI E I —H18,

5.C)AMAELEEHIZTAMNEAHEHFNRS, LHLEFEEENHRFGRATUHAT, REEEF 7" MARNA
BN IRE ARERETE YR ? XERETIT MK T X MEEBIT A PEE.” P # How could you...? I best
HIFRAIT IR ME I HHE”

6. A) AR EEL - SHEMAHRE, FHRER XM TEAEM 47" Hit, ¥ —AEHH I m looking for
quality paper. .. " HFRITEBMIEFRERNZE A,

7.B) A AE AN EPRLEMANEFEN . b TRAKEERXMVZEMEN, BLE BARXRINIXEE -1

S 6 #

ExEEI

ety L4

843




S8 8

FRTRTEWSRS FRITFE] |

TOORHAEX ML HBRINE RAHE" . & B,
SAABREERMEFEMNREN, XMLTEFM“. .. 1 still remember the look on his face when he showed up
late on the first day of school. " & iFFRATX ( & 10 4E James BRHE " LiIRMIE—-RBMBRIT", #E A,
9. D)AREREEEFAMEMHENEEN. HPH So do I HIRBATXNMS LRZEX ML LMW, TAM LA
He b ER RMA R T KA ERERE D,
10. O) AR EA M H P FEEENERN, BHE XEEF, SRR XK ABA N3 “ IR ;R
AN BERBESTFNE " BHRBETHEGEET . WA C,
Section B
Passage One
FRXER-EEATEEN—THREDNENEBNET, © BRIV T 7EENE B I BN =R i, ik
£ B8 MARB - BISRENERENEY, REREEMAMY=IBRABRESEEE LX—-Ha0em,
1H.D)AEREELEEMMEEOPRNTHEEN . XEF-GEHFFRIMBA— RS SAEEDEE N — M
aEIM. #i% D, '
12.C)FFREEERBMN, HIFEREBENEIEB AT LA R F“. .. each person who was invited had to bring
with him a certain number of silver and gold coins. . . position in the service of the government” $%21| , HE it & M A7 &
. ERMAIRE .
B A)AEREES TRBENEEN. XEPHBERE _AFESFRI EBELBZR—ELAMA%RE
MR EEZNR” . MEEHIERERERE A,
Passage Two
ARYXER-BATHEYRANEAX., BX EEHIEERARKETEOE  REHAT HFHRAMNTR
AR AR TR, BE TN ETFHRREZEIHT .
14.D) A BRI REK . XERIFFHH X BE—HIE, . .. Nobody knows why” £ {FH 11 % B RA MR LB IFENE
WRE I AR, BUE D,
15.0) FERBIEAEANEERANSEN, XEPHXHE—FH)iE, “People may be afraid of them,look down on
. them,or think they are criminals. " E{FRITE LA EYERAFIRIKF . 8% C,
16. A) B R BN LA, LEBRSS —FAHEthe education authorities try to arrange special traveling schools for
Gypsy children. " &R IR TBURF BT R B AT TE R B ST AR R Y28
Passage Three
FRXER-BXTREEFRNIGE N MENFELINER, SEFROBRREAR. &RCGEFRYE
BE =4 HENL RERAR. FHRTESREABEUNERSET . I, ATHEEIF IS A3
AR EE
17. B) AR EHRIF T ESHMNBEENEERN . b FABSCEE TRARB RIS BX 5308 B4
R, BUREIERE 5. 8% B,
18.B) AR ER N T H I EE R REMHERN ., XEFR DT Improved design has helped to make highways
much safer” HIF RSB ERERRZE B,
19. D) FAEELEARTEER —EREKNBEENAER. XEHFRARSRERETLRANESHERXZE
HYMER, THERERX-ERRE=ZHEYPRAEUM .. ¥k D,
20 A )AEREER S - MNEREETH. XEFRE-AFEEFROANMOEENFHEFERRERT, DB
WEEM. 86K A,

1 EEELTELEEEEE]

A SERXERELEFEDSHER

HEEME MRS R P M

KEFIFENGHRET N 710,360 R AW, P RIERBX—TEARS T 284 2. BEETHES E

<+
{53




hip 77w, wmmenglsh. som

RBRT R EEREI8IH0EL. Hit, ?‘21!]7&15‘35%%&%%155}99??&0 F5h, BN RS EH R,
I SRR — LIRS, ik, RATAT IR B R EERE

RFEZGRIFIRW BB BGETF FEMES, MAEXZ P, RIEENMEREREY, BN T%3
RIFRHFEL, RS RNUARTZH, LR BNKBREENEREFIR, ALFKIE, TIERMAM ERE
B 1 B RSN EBOS RHE, RINBHBARROBIERS . MAEEISBP, TLRZITER¥E, HITEE
RESTBAE TS —fi. ENRBURKEEREKTHLEL—NRER, ARM LT HEIX —HAENE S
it 7E TR ST R e, A R K 7R LB B 7E BRI EARX — T B &

HEXAN WRREEROER

EFEMREHFEP, ML REEHECRBIERERENERRBEIRBEEOELRY, BRBEWR]
WREEENBREROBETY . HHETFMROCREIBHERR) AT RERBHEN AR RIS
ERABCRANIZRE S —E WU BT RS . MKBEAE, BATT OB RE H IR H R IE% T 1
EPZHE,

Fioh CRFETRHE K B XTH BT DU B0 A2 BT L 48 # B R AR 10 WA SCRLSE - 4R B A B i i,
WU 3 ) 52 3 IF B AR ME B PP 2 00— R SO BRI BHEL IR, Bﬂlﬁﬁlﬁ B I B 50 1A (5 M E R AIK L A2 1)
BECA T B 3% KRR, HBEA P4 4h 80 1), B K 70% .

BRA R EERNER FARBEENE. REPAERETHEBARONE, TRAAFERH
BUBEEE , 3 B SEHTE M AR 6] 038 B ISR, AR A FEBTRLE 1 35 434 P 52 LB 3 1200 18] 28 4 B VO 85 46 303 52 UG
T £ 20 S8 )3 A R AR AR

A dudi i

45 AL, TEFF R RS L, BT A 5 REA XN B AL B =Fh.
1. BT

XA RS RS R0 EH ., MA, XFRGREHENEET LR K, TERBNEXE
AR, BIARKLAR 1000 -1300 44, FEA 20 EEH, BRXEREA LEEE. BEFRYRHER 35 4
o

T, BRATE XA H i RAER:

Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements. For
each of them there are four choices marked A) ,B) ,C) and D). You should decide on the best choice and mark the corre-
sponding letter on the Answer Sheet with a single line thrdugh the center.

HRBN EEHAMHF4RAXLE, SRYEFEAIINAERESATRNE T, HE—AERER TS
KA TFHE W35 A),B),C) , M D) M. REikHBIFHNER, HIBEEF AR FE M b R
—RELHFERB. THE,RITREENBIF R (1994 4 1 A CET -4. Part II . Passage One).

Suppose we built a robot (#1#%) to explore the planet Mars. We provide the robot with seeing detectors to keep it away

from danger. It is powered entirely by the sun. Should we program the robot to be equally active at all times? No. The robot
would be using up energy at a time when it was not receiving any. So we would probably program it to cease its activity at
night and to wake up at dawn the next morning.

* According to the evolutionary (#4L ) theory of sleep, evolution equipped us with a regular pattern of sleeping and
waking for the same reason. The theory does not deny (7 1A ) that sleep provides some important restorative functions. It
merely says that evolution has programmed us to perform those functions at a time when activity would be inefficient and
possibly dangerous. However,sleep protects us only from the sort of trouble we might walk into;it does not proter' us from
trouble that comes looking for us. So we sleep well when we are in a familar, safe place,but we sleep lightly "" ..t all, when
we fear that bears will nose into the tent.

The evolutionary theory accounts well for differences in sleep among creatures. Why do cats, for instance, sleep so
much , while horses sleep so little? Surely cats do not need five times as much repair and restoration as horses do. But cats
afford to have long periods of inactivity because they spend little time eating and are unlikely to be attacked while they
sleep. Horses must spend almost all their waking hours eating,because what they eat is very low in energy value. Moreover,
they cannot afford to sleep too long or too deeply, because their survival depends on their ability to run away from attackers.
21. The author uses the example of the robot in space exploration to tell us

A)the differences between robot and men B) the reason why men need to sleep
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C) about the need for robots to save power D) about the danger of men working at night
22. Evolution has programmed man to sleep at night chiefly to help him

A) maintain a regular pattern of life B) prevent trouble that comes looking for him
C) avoid danger and inefficient labor D) restore his bodily functions
23. According to the author,we cannot sleep well when we
A) are worrying about our safety B)are overworked
C)are in a tent D) are away from home
24. Cats sleep much more than horses do partly because cats i
A) need more time for restoration B) are unlikely to be attackers
C) are more active than horses when they are awake D) spend less time eating to get enough energy

25. Which of the following is the main idea of the passage?
A) Evolution has equipped all creatures with a regular pattern of sleeping and waking.
B) The study of sleep is an important part to the evolutionary theory.
C)Sleeping patterns must be taken into consideration in the designing of robots.

D) The sleeping pattern of a living creature is determined by the food it eats.
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Directions: In this part there is a short passage with five questions or incomplete statements. Read the passage carefully.

Then answer the questions or complete the statements in the fewest possible words. (not exceeding 10 words)
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In Britain, the old Road Traffic Act restricted speeds to 2 m. p. h(miles per hour)in towns and 4 m. p. h. in the coun-
try. Later Parliament increased the speed limit to 14 m. p. h. . But by 1903 the development of the car industry had made it
necessary to raise the limit to 20 m. p. h. . By 1930, however, the law was so widely ignored that speeding restrictions were
done away with altogether. For five years motorists were free to drive at whatever speeds they liked. Then in 1935 the Road
Traffic Act imposed a 30 m. p. h speed limit in built — up areas, along with the introduction of driving tests and pedestrian
(788 N ) crossings.

Speeding is now the most common motoring offence in Britain. Offences for speeding fall into three classes:exceeding
the limit on a restricted road , exceeding on any road the limit for the vehicle you are driving ,and exceeding the 70 m. p. h.
limit on any road. A restricted road is one where the street lamps are 200 yards apart,or more.

The main controversy ( 41£ ) surrounding speeding laws is the extent of their safety value. The Ministry of Transport
maintains that speed limits reduce accidents. It claims that when the 30 m. p. h. limit was introduced in 1935 there was a
fall of 15 percent in fatal accidents. Likewise , when the 40 m. p. h speed limit was imposed on a number of roads in London
in the late fifties ,there was a 28 percent reduction in serious accidents. There were also fewer casualties (f512) in the year
after the 70 m. p. h. motorway limit was imposed in 1966.

In America, however, it is thought that the reduced accident figures are due rather to the increase in traffic density. This
is why it has even been suggested that the present speed limits should be done away with completely,, or that a guide should
be given to inexperienced drivers and the speed limits made advisory,as is done in parts of the USA.

Questions ; (8 : B R MM 4, 485 10 MAEMSY . BAMRKRE —MIGERA FARSALH.)

71. During which period could British motorists drive without speed limits?

72. What measures were adopted in 1935 in addition to the speeding restrictions?

73. Speeding is a motoring offence a driver commits when he
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